2 7
2x +5x +3=(2x+3)(x+1)
AN

k(a+b)=kxa+kxb
dfﬁ?%;:ﬁ) axc+axd+bxc+bxd

Formula
// 2(x+ty)=2x+2
y) y

Product of factors|

e 2 is an Integer
« X is a Variable
*2X + 2y together is an

. Expression




Question 1

Factorise completely. "
12x%+ 15xy- 9x (2]

3 ( 4%+ 55-3)

Question 2

Expand the brackets and simplify.

(5- n)(3+n) [2]
2
1I5+6n-3n4+N
4N+ 15
Question 3
Factorise completely.
12n% - 4mn (2]
Yn (3n-m)
Question 4
Factorise.
14x- 21y gl
3 (2%-3Y)
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Question 5

Factorise completely. [2]
4x2- 8xy
yx (%-29)
Question 6 )
(a) Simplify.
4(x- ()f
Y- 24

(b) Expand the brackets andsimplify.
(x+4)*+5(3x+2) 3]

'y 82 416 + 19+ 10
2
% + 23%+26

Question 7

Expand the brackets and simplify.
4(5w+3)- 2(w- 1) [2]

20% +12-2W+ 2
18%+14

Question 8

Factorise.
(a) m*+m [1]

m(m+1)

(b)y 25- )'2 L]

(5-4)(S+9y)

(c) x*>+3x-28 (2]

(x+3)(x-4)
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Question 9

y =x2+ 7x — 5 can be written in the form y = (x + a)?+ b.

2
Find the value of a and the value of b. %+ 24+ &"’ b

203 otb = -§
a=3
2 Si + bs =S
b -20-49
. —
Y
- -69 _ - 3L
Question 10 'Z"' - 9
Factorise 2x —4xy.
ax (1-294)
Question 11
Factorise
(a) 9w?- 100,
(3w -101(3W +10)

(b) mp +np - 6mg - 6ngq.

p(m+n) —¢q(m +n)

(m+n) (p-¢9)

3: (%"' %)z‘

(2]
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Question 1

Factorise completely.
2x —4x?

2% (1 -2%)

Question 2

Expand and simplify.
x(2x+3)+5(x-"7)

2
2% 4+ 3% +SA-35
9.«3+sx-35

Question 3

Factorise completely.
9x2 — 6x

3 (3%-2)

Question 4

Factorise  2x%2— 5x —3.

Caxd(a-3) 2 2! £ 2
|>{3 -6W

Question 5
Factorise 14p* +21pq.

1-P(9.p+3q_)

(2]

(2]

(2]
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Question 6
Factorise completely.
(a) ax +ay + bx + by

o (xty) + b ( xty)
(ot y)( a+b)

(b) 3(x — 12+ (x 1)

(x-1) [ 3%-3 1)
(-1 (3%-2)

Question 7

Factorise Completely.

15a3— 5ab

5o (30-b)

Question 8

Factorise completely.

(@)a+b+at+bt

a4b) C1at)

(b) x2—2x-24
(a-6) (0 +4)
Question 9
Factorise completely.
12xy —3x2
3 (uy-2)

Question 10

Factorise completely.
ap +bp —2a-2b

platby-2(a+h
(a+b) cp-2)

(2]

(2]

(2]

(2]
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Question 1

Factorise completely.

kp + 3k +mp +3m (2]
kCpt3) + m{p+3)
(p+3) Ck+m)
Question 2
Factori letely.
actorise completely 552 241 2]

3P (sp+ 8t)

Question 3
(a) Find the value of ~ 7p — 3¢ when p = 8 and g = -5. 2]
56 +18 =1l
(b) Factorise completely.
3uv +9vw 2]
av ( u+3w)
Question 4
Factorise completely ax + bx +ay + by. (2]
(% +y)(OF b)
Question 5
Factorise completely. X i
px—4qx (3]
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Question 6

Factorise completely.

2xy —4yz [2]
Question 7
Factorise
(a) 4x*-9, Ul')‘-"a )C&'l‘\’g) [1]
(b) 4x%— 9x, (1]
% (4o -9)

@ac-ox+2. H -,V -\ 2]
|><2 -8

(4-1I(n-29 -

Question 8

(@) 7ac + 14a, [1]

3a. (c+2)

(b) 12ax* + 18xd’. [2]

2 2
Gan (2% +30)

Question 9
2 2
(a) Factorise completely 12x - 3y. [2]
3 (d-9) =3 (0-9) (AA+Y)
(b) @ Expand (x-3)2. 2]
9(?'-. 6%+9
% S
(i) x*-6x+10 is to be written in the form (x - p)* +g¢. 2]

).P a6 Find the values of p and q.

P: ’ f,’n:q{.':, qut'u-”ﬂ ) The Maths Society



